Exam I; F4360; 11:00 Class; Spring, 1999


Name ______________________________

1.  Provide a short answer (sometimes even a single word) to each of the following:

a.  Suppose that after class today you invest some money into a savings account and that you plan to leave your money in your account until a year and a half from today.  What should you use as “t” in calculating the future value of your deposit (N on a calculator) if you use an effective monthly interest rate?  (Note:  you make no additional deposits after the one today, you simply let interest compound).

b.  You have just put money into an account that pays an interest rate of 4.5% per year compounded continuously.  What is the effective annual interest rate on this account?

c.  Over the past five years, the return on Noservice Merchandise stock has been as follows:  14%, -12%, 23%, 9%, and then 32%.  What is the average return on Noservice over the past 5 years?

d.  Does standard deviation, beta, correlation, or covariance best measure the systematic risk of an asset?

e.  Asset A is riskier and has a higher expected return than asset B.  The correlation between the returns on asset A and B is +1.  Sketch a reasonable feasible set that results from combining A and B into a portfolio.

2.  You are considering investing in Baldur’s Gate Inc. and have estimated that the return on Baldur’s Gate during the coming year will depend on the economy as follows:


Return on:

Economy
Probability
Baldur’s Gate
S&P500
T-bills
High growth
.28
45%
27%
4.81%

Slow growth
.47
15%
10%
4.81%

Recession
.25
-6%
-2%
4.81%

a.  What is the expected return on Baldur’s Gate?

b.  What is Baldur’s Gate’s beta?

c.  Given Baldur’s Gate’s risk, what is the required return on Baldur’s Gate?

d.  Suppose you are valuing Baldur’s Gate stock which pays a quarterly dividend.  What rate would you use in calculating the value of Baldur’s Gate stock (you need to give a specific number)?

3.  Four months from today, you plan to make the first of 7 monthly deposits of $250 each into a savings account that pays an interest rate of 5.2% per year compounded monthly.  One year from today, you plan to make your first withdrawal from this account.  You plan to make additional withdrawals each quarter until you have made a total of 8 withdrawals.  However, you would like for each withdrawal to be 1% larger than the previous one.  

a.  How much will be in your account right after you make your last deposit?

b.  How large should your first withdrawal be?

c.  How large will your last withdrawal be? 

4.  Assume you have two uncles and that each one owns a business.  Since you are getting a finance degree, both have shown you copies of their financial statements and you observe that both firms have about the same level of net income.  However, in order to practice some of what you have been learning, you decided to calculate the EVA for both firms.  You (and your uncles) are surprised to find that one of the firms has a positive EVA while the other one has a negative EVA.  

a.  What are the potential reasons for this difference in EVA despite the similar net incomes?

b.  Which ratios could you calculate that might shed some light on which of these potential sources of differences are the true underlying causes of these differences in net income and EVA?  Justify your answer.







